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Section ALO Marks)
Workout: 68 - 36 12 | Write 70596 in words.

—_t—

Given that set A= {1,2,3,5,6,7,8,9} |4 | Find the reciprocal of three quarters. j
and set B = {2,4,6}. Find n(ANB)

The average age of 16 pupils is 12 | 6 | Find the next number in the sequence
years. What is their total age? below.

256, 64, 156, 4,

(]

George paid sh.80,000 for a radio |8 | A motorist covered 90km in 45
after a discount of 20%. What was minutes. At what speed was he
the marked price of the radio? travelling in km/hr?
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1 How many 300gm packets can be got from a 90kg bag of posho flour?
!

]
1
|
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Using a ruler, a pencil and a pair of comapsses only, bisect the angle given

below. /
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9 irFind the value of m i;(d"é‘gr-ehegf‘““"‘“— e /1' |
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A |
Solve the inequality: 4 - 5 <8 11 i Work out: -7 - *4
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B If K +5 = 3 mode 7. Find the value
‘ of K.
i
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Gwen that set T = {8 2} how many

proper subsets can be got from set T?

What distance does it cover in 25

- minutes.

| Gwen that #g& represents 18 houses how many houses are represented by

19

The range of d and -9 is +8. Find
the value of d.

20 Work out: (93 x 8) - (48 x 8)

-

7 The tip of a minute hand i1s 7cm long.
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21 | (a) Work out: 304, - 243, =———tarky) ~ |
(b) Convert 432five to base seven. (03marks) }
| |
|

22

he number of pupils who like Sc_ience(S) and
ars Junior School.

a(M)

. . _‘\*\\‘_7,
The Venn diagram belgyy shows t
Mathematics(M) in White St

n(S

(a) Given that the number of pupils who |
of pupils who |

sl

ike Science only is equal to the number
ike Mathematics. Find the value of P. (03marks)

(b) What is the probability of picking a pupil who does not like science at all to
be a prefect?

(02marks) | ;

|

i

23 | Sarah’s car uses 18 litres of petrol to cover 126km. {
(@) How much petrol does she need for a journey of 196km? (03marks)
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(b) If the cost of 2 litres of petrol is sh.10,000, how much money does Sarah—~ |
. Spend to cover 196km? ‘ (02marks) |

iv
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; 24 ‘j (@) Antonia has a bicycle tyre of diameter 56cm. If he rides through a distance |
; of 0. 88km.How many complete revolutions does the bicycle tyre make?
! (03marks)

to cover the given distance? (021marks)

o - )

25 | Circular tins of A w_exepaa\;_d in a rectangular box B.

B | | i
40cm A |
45cm @Scm '
80cm Gem

(a) How many tins were packed in the first three layers? (03marks) | |

{
S
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(b) Find the volume of the rectangular box.

26 (a) Solve for n: 230 = 23 = 64

(b) Express 0.00392 in standard form.

; (a) How many receipts did the bursar issue?

(b) How much money did the bursar collect?

(i OZmark")

7 (031110rk9j |

(02marks)

S—

27 A school bursar issued receipts worthy sh10,000 numbered from 4572 to 477 .

(0Zimnrks)

(02n1arks)

4
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avule takes (P+2) hours to travel from X to Y. It takes him 2 more hours to ‘
travel from town Y to Z. If the total journey takes him 10 hours, how much time

does he take to travel from X to Y? (05marks)

29

The figure below represents a rectangular metallic sheet to be folded to
make a cylindrical tank.

35cm

176cm

(b) Find the volume of the cylinder formed. (02inarks)

|
‘\
J

i
1
H

kj

(a) Find the area of the circular sheet needed to cover the bottom.  (04marks) i‘
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| 30 | The exchange fates at a forex pureau are as shown below. =
Currency Buying Selling |
Ksh 37 38 |
Us$ _ 3650 3700
Pond sterling 4300 4400
(a) If Hassan had Ugsh.332500, how much Kenya shillings was he given? |
' (02marks)
|
(b) Annet had 176 United states dollars, how many pounds did she get?
. (03marks)
|
|
31

1 1
On a farm, 4 are cows, o are goats and the rest are sheep. If the total number

of cows and goats is 280, find the number of sheep. (05marks)
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ﬁ A mot()rist left town P at 7:20am driv{ﬁé at ari'a;?agé_sﬁgeaugﬁidfn:/ﬁf 3hrs to town
: 1
Q. He stopped at Q for 30 minutes and left for R driving at 50km/hr for 2-2- hrs.
(2) Represent the motorist’s journey on the graph below. |
Use a scale of :- Vertical axis 1cm box to rept.10km |
Horizontal axis 1cm box to rept. 30mins. (03marks)
AR T T I —
240 Y = ; |
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2 . | | | . 1
P T ' | i | | | iy |
7:20 8:20 920  10:20 1120  12:20  1:20 |
(b) At what time did the motorist leave town Q for R. (0Lmark) | |
: |
|
|
(c) Write the arrival time at town R in 24hour clock system. (01rmars) |
{ [
L

N

Understanding and appreciating that mathematics in not about
memorizing isolated techniques but rather mastering concepts,
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